2] £ e 5 E # 5 % # e ® #
AR TREMER IR AR IREMHER TR
SMAE | HM3E | BE | HMAE | SM3F | BH | SM4E | SM3E| EE | SHM4FE | SM3E| HE | SN4E | SM3E| BE | SM4E | SM3FE | BR

B F O K 145 104 41 145 106 39 100.0 101.9 -1.9 676 631 45 401 430 -29 59.3 68.1 -8.8
54 (ITI—) 66 39 27 65 41 24 98.5 105.1 -6.6 291 246 45 167 165 2 57.4 67.1 -9.7
ERCE AP 36 17 19 36 19 17 100.0 111.8 -11.8 119 108 11 74 74 62.2 68.5 -6.3
5 bHhX 11 9 2 11 9 2 100.0 100.0 48 32 16 16 26 -10 33.3 81.3 -48.0
SbEK 6 5 1 5 5 83.3 100.0 -16.7 25 38 -13 17 28 -11 68.0 73.7 5.7
SbEKX 13 8 5 13 8 5 100.0 100.0 99 68 31 60 37 23 60.6 54.4 6.2
' Z b 31 34 -3 31 34 -3 100.0 100.0 206 156 50 131 95 36 63.6 60.9 2.7
b= TR ) 11 13 -2 12 12 109.1 92.3 16.8 21 44 -23 13 32 -19 61.9 72.7 -10.8
E - 3 2 1 3 2 1 100.0 100.0 17 41 -24 9 34 -25 52.9 82.9 -30.0
£ ® W - - 17 13 8 8 47.1 61.5 -14.4
F R 0™ 3 3 3 3 100.0 - 100.0 10 8 8 3 5 80.0 37.5 42,5
F S ) 2 1 1 2 1 1 100.0 100.0 16 21 -5 12 7 5 75.0 33.3 41.7
5 2 W 1 1 1 1 100.0 - 100.0 10 3 7 10 1 9 100.0 333 66.7
R W 2 1 1 2 1 1 100.0 100.0 2 4 -2 3 1 2 150.0 25.0 125.0
5 &1 1 1 1 1 100.0 100.0 13 5 8 2 3 -1 15.4 60.0 -44.6
b= I ) 1 2 -1 1 2 -1 100.0 100.0 12 12 3 21 -18 25.0 175.0 |  -150.0
~ B W 2 2 2 100.0 - 100.0 8 16 -8 2 12 -10 25.0 75.0 -50.0
E E W 7 3 7 3 4 100.0 100.0 16 11 5 10 3 7 62.5 27.3 35.2
£ fF 0wW 3 3 3 100.0 - 100.0 6 14 -8 1 11 -10 16.7 78.6 -61.9
b= R 1 -1 1 -1 - 100.0 | -100.0 9 8 1 7 8 -1 77.8 100.0 -22.2
R AR AT 1 2 -1 1 2 -1 100.0 100.0 3 7 -4 2 7 -5 66.7 100.0 -33.3
HMEME S AT 2 2 2 100.0 - 100.0 7 4 3 3 1 2 42.9 25.0 17.9
& O ER Bk |y 5 1 5 1 4 100.0 100.0 1 3 -2 1 1 100.0 100.0
NNy N i) - - 5 4 1 4 5 -1 80.0 125.0 -45.0

& JE AR # A - - - -
& M AR 8 27 A7 - - 1 3 -2 2 2 200.0 66.7 1333
P FH AR B o0 T 1 1 1 1 100.0 100.0 1 1 1 2 -1 100.0 200.0 | -100.0

f FH AR 5 % HT - - 1 1 1 -1 -

EHEFEERN 1 1 1 1 100.0 - 100.0 - -
AKEBAKFGHET - - 1 1 1 1 100.0 - 100.0
A K BB 3% K ET 1 -1 1 -1 - 100.0 | -100.0 2 1 1 1 2 -1 50.0 200.0 | -150.0
NS BB 2 o SR T 1 1 1 1 100.0 - 100.0 3 -3 3 -3 - 100.0 | -100.0
TEH RN 1 2 -1 1 2 -1 100.0 100.0 3 -3 3 -3 - 100.0 | -100.0




